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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Q.1 Ifthe edge of a cube is increased by 1 cm, then the volume will increase by 169 em?. The length of each edge of the

cube is:

Ans X' 1. 8 cm
K 2 6cm
X 3 9cm
v 4 7em

Question ID : 6913522920
Option 11D : 69135211679
Option 2 ID : 69135211680
Option 31D : 69135211677
Option 4 1D : 69135211678
Status : Answered
Chosen Option : 4

Q.2 Which pattern will the given transparent sheet resemble when it is folded at the dotted line?

Question ID : 6913522953

Option 11D : 69135211809
Option 21D : 69135211812
Option 31D : 69135211811




Chosen Option :

Option 4 ID : 69135211810
Status : Answered
Chosen Option: 3
Q.3 With which bank did the branchless banking services firm, Oxigen announce a strategic partnership in 20187
Ans X' 1. HDFC
v 2. Fincare Small Finance
X 3. NABARD
< 4 IDBI Bank
Question ID : 6913522998
Option 11D : 69135211991
Option 2 ID : 69135211990
Option 31D : 69135211992
Option 4 1D : 69135211989
Status : Not Answered
Chosen Option : --
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Question ID : 6913522976
Option 11D : 69135211901
Option 2 ID : 69135211902
Option 31D : 69135211904
Option 4 1D : 69135211903
Status : Answered
Chosen Option : 1
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Question ID : 6913522977
Option 11D : 69135211906
Option 2 1D : 69135211908
Option 31D : 69135211907
Option 4 1D : 69135211905
Status : Not Answered
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Question ID : 6913522973
Option 11D : 69135211892
Option 2 ID : 69135211890
Option 31D : 69135211889
Option 4 ID : 69135211891
Status : Answered
Chosen Option : 4

Q7 Akbar, at the age of

Ans X 1.
X 2
p
v

33
23
a1
13

. was made Governor of the Punjab region.

Question ID : 6913522995
Option 11D : 69135211980
Option 2 ID : 69135211979
Option 31D : 69135211977
Option 41D : 69135211978
Status : Answered
Chosen Option : 4
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Question ID : 6913522979
Option 11D : 69135211913
Option 2 ID : 69135211914
Option 31D : 69135211915
Option 4 ID : 69135211916
Status : Not Attempted and Marked For Review
Chosen Option : --

Q9 IfsinA : cosA =4 : 7, then the value of (7sinA — 3cosA) / (7sinA + 2cosA) is:
Ans X1 3/14
X223




V'3 1/6

X 41/3
Question ID : 6913522924
Option 11D : 69135211695
Option 2 ID : 69135211696
Option 31D : 69135211694
Option 4 ID : 69135211693
Status : Answered
Chosen Option : 3
&1 The square root of 16900 is:
Ans X1 110
v 2130
X3 120
X 4140
Question ID : 6913522905
Option 11D : 69135211620
Option 2 ID : 69135211618
Option 31D : 69135211619
Option 4 ID : 69135211617
Status : Answered
Chosen Option : 2
Q.1 A bullet, of mass 30 g is horizontally fired with a velocity 150 ms™ from a pistol of mass 2 kg. What is the recoil
1 velocity of the pistol?
A -
s of 1. —2.25ms!
X 2 —1.25ms™1
X 3 —1.5ms™?
X 4 —1.0ms™?
Question ID : 6913522956
Option 11D : 69135211823
Option 21D : 69135211824
Option 31D : 69135211821
Option 41D : 69135211822
Status : Answered
Chosen Option : 1

°é‘ When the litmus solution is neither acidic nor basic, its colour is:

Ans - X 1. Colourless
& 2. Pink

« 3. Purple

X 4 Blue

Question ID : 6913522971
Option 11D : 69135211882
Option 2 ID : 69135211881




Option 31D : 69135211883
Option 4 1D : 69135211884
Status : Answered
Chosen Option : 1
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Question ID : 6913523000
Option 11D : 69135212000
Option 2 ID : 69135211997
Option 31D : 69135211998
Option 4 ID : 69135211999
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.1 Identify the first recipient of the Prime Minister’s Award for outstanding contribution to promotion and development of
4 Yoga?

Ans % 1. Bihar School of Yoga
/< 2. Ashtanga Institute, Mysore
+ 3. Ramamani Iyengar Memorial Yoga Institute, Pune
/< 4 Yoga Institute, Mumbai

Question ID : 6913522989
Option 11D : 69135211955
Option 2 ID : 69135211953
Option 31D : 69135211956
Option 4 1D : 69135211954
Status : Not Answered
Chosen Option : --
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Question ID : 6913522966
Option 11D : 69135211863
Option 2 ID : 69135211864
Option 31D : 69135211862
Option 4 1D : 69135211861
Status : Answered
Chosen Option : 2




Q1 n
¢ Find the odd one out from among the given figures.

/N

]
oo “3
A B C D
Ans x 1. D
v C
X3 A
X4 B
Question ID : 6913522947
Option 11D : 69135211788
Option 2 ID : 69135211787
Option 31D : 69135211785
Option 4 ID : 69135211786
Status : Answered
Chosen Option : 4
Qf Find the word that does NOT belong to the group:
Medium, Average, Terrible, Mediocre
Ans  of 1. Terrible
X 2 Medium
/< 3. Mediocre
/< 4. Average
Question ID : 6913522927
Option 11D : 69135211707
Option 2 ID : 69135211705
Option 31D : 69135211708
Option 4 ID : 69135211706
Status : Answered
Chosen Option : 3
Qé" Who was awarded the 2018 Padma Bhushan in the field of Literature and Education?
Ans X 1. Jahnu Barua
' 2. Ved Prakash Nanda
< 3. K Radha Krishna
/< 4 Vinod Rai
Question ID : 6913522985
Option 11D : 69135211939
Option 2 ID : 69135211937
Option 31D : 69135211938
Option 4 1D : 69135211940
Status : Not Answered
Chosen Option : --




Q.1 Which of the following statements is/are true?
9
A. Rigidity: It is property of matter to allow a decrease in volume under high pressure and gases show this property.

B. Fluidity: It is the property of a substance to easily flow and allow change in its shape under external force and
this property is exhibited both by liquids and gasses.

Ans (1. A and B are both true
+ 2 Only B is true
< 3. A and B are both false
/< 4 Only A is true

Question ID : 6913522969
Option 11D : 69135211875
Option 2 ID : 69135211874
Option 31D : 69135211876
Option 4 ID : 69135211873
Status : Answered
Chosen Option: 1
062 oAl Yzt clidll WA Yz HE eclldl Yo B 3 adl A «issl 530
WA
9] u%e AsRw duRlaL walsal Hlau?
ecllcl:
&, clBdrel vealRll 58 B 3 A vl 12 silkisizs B,
I ol AUB UBE A5 AEAR oltd ot 531 28R, Udq Aot A el A A2ell UHFELR olofl 28lEL
efl,
Ans
Ko el | a1 yua B
X2y eclld I yua @
v el | uaa 8
X4 ol eclld | ol 1 Yo 8
Question ID : 6913522935
Option 11D : 69135211737
Option 21D : 69135211738
Option 31D : 69135211740
Option 41D : 69135211739
Status : Not Answered
Chosen Option : --

Q.2
1

is the largest producer of food grains in India and accounted for about 17.83 per cent share in the country's total
food grain output in 2016-17.

Ans o 1. Uttar Pradesh
& 2 Uttarakhand

/< 3. Madhya Pradesh
/< 4 Punjab

Question ID : 6913522993
Option 11D : 69135211972




Option 2 ID : 69135211971
Option 31D : 69135211970
Option 4 ID : 69135211969
Status : Answered
Chosen Option : 4
Q.2 A jeweller sells two pieces of jewels for a total profit of ¥ 75,000. If the profit from one piece of jewellery is 55% of the
2 total profit amount, what is the profit he has made from the sale of the other piece of jewellery?
Ans
X 1. 232,750
2 2 232,000
23 233,000
4 33,750
Question ID : 6913522940
Option 11D : 69135211758
Option 2 ID : 69135211757
Option 31D : 69135211759
Option 4 1D : 69135211760
Status : Answered
Chosen Option : 4
Q.2 The base of a triangle is one-fifth of the base of a parallelogram having the same area as that of the triangle. The ratio of
3 the corresponding height of the triangle to the height of the parallelogram will be:
Ans of1.10:1
X25:1
X38:1
X4 5:2
Question ID : 6913522922
Option 11D : 69135211687
Option 2 1D : 69135211685
Option 31D : 69135211688
Option 4 1D : 69135211686
Status : Answered
Chosen Option: 1
Q.2 A car can finish its journey in 8hours at the speed of 120 km/hr speed. If the same distance must be covered in 20 hours
4 by atractor, what should be the speed of the tractor?
Ans X 1. 73.5 km/hr
v 2 48 km/hr
X 3. 49 km/hr
X 4 75.5 km/hr
Question ID : 6913522915
Option 11D : 69135211658
Option 2 ID : 69135211659
Option 31D : 69135211657
Option 4 1D : 69135211660
Status : Answered
Chosen Option : 2
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Question ID : 6913522980
Option 11D : 69135211919
Option 2 ID : 69135211917
Option 31D : 69135211918
Option 4 1D : 69135211920
Status : Answered
Chosen Option : 3

Q.2 Study the following pie chart and answer the question that follows.
6
The pie chart shows information about the sales of mobile phone company XYZ in different states of India.

Telangana

VA
2

Madhyapradeah

Kamataktee

If the total units of mobile phone sold are 120 million, then how many units were sold in Maharashtra region
(in millions)

X124
X 218
V36
X412

Question ID : 6913522941
Option 11D : 69135211764
Option 21D : 69135211763
Option 31D : 69135211761
Option 41D : 69135211762
Status : Answered
Chosen Option: 3

Qf What is the value of x.?

144 144
1.44 X
v 1 0.144

< 2 0.0144




X3 1.44

X 4.0.00144
Question ID : 6913522903
Option 11D : 69135211611
Option 2 ID : 69135211609
Option 31D : 69135211612
Option 4 1D : 69135211610
Status : Answered
Chosen Option : 1
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Question ID : 6913522972
Option 11D : 69135211885
Option 2 ID : 69135211888
Option 3 1D : 69135211886
Option 4 ID : 69135211887
Status : Answered
Chosen Option : 4
Q.2 TIn which of the following award programmes of 2017 was Neha Bhasin awarded the Best Singer(Female) award?
9
Ans o 1. Filmfare
& 2. National Film Awards
#< 3. IFF of Melbourne
X 4 IIFA
Question ID : 6913522984
Option 11D : 69135211933
Option 2 ID : 69135211935
Option 31D : 69135211934
Option 4 1D : 69135211936
Status : Not Answered
Chosen Option : --

063 A [@Qsed e 53 3 B Aot aloe Wi wmiot Hl28 ol 8z 3 Fell A ollsl 2o Udel 2ee wd
doldd .

o5 cth = Dot : 2
o alluy

X 2 ealol
X 3 [l
X 4 eqqarll




Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522930

69135211718

69135211720

69135211717

69135211719

Not Attempted and Marked For Review

Ans X 1. F 2,480
X2 %2280
'3 2,880
X 4 ¥ 3,280
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

6913522918

69135211669
69135211670
69135211671
69135211672

: Not Attempted and Marked For Review
Chosen Option :

°é3 Find the odd one out:

Ans (1 D
X2cC
X3 B
X4 A

o [FTIE

Question ID : 6913522948
Option 11D : 69135211792
Option 2 1D : 69135211791
Option 31D : 69135211790
Option 4 1D : 69135211789
Status : Answered

Chosen Option: 1

Q.3 5 i . i .
. Find the odd figure out in the given series:

2

i

x

A B
Ans x1~ D
X2B

C

D




Vs A
X4 C

Question ID : 6913522945
Option 11D : 69135211780
Option 21D : 69135211778
Option 31D : 69135211777
Option 4 ID : 69135211779
Status : Answered

Chosen Option : 1

Q.3
4

Ans

_ slR39L Yelloj @ dUiH B
v 1. Ca(OH);

X 2 CaCO;

3. CaCly

X 4 Ca0

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913522970

69135211878

69135211880

69135211879

69135211877

Not Attempted and Marked For Review

5

Ans

(@ () @
@ Y

Students of Science, Students of Arts, Male

v 1D
X2 C
X3 A
X 4B

Q.3 Choose the venn diagram which best illustrates the three given classes in each of the following question:

Question ID : 6913522952
Option 11D : 69135211808
Option 2 ID : 69135211807
Option 31D : 69135211805
Option 4 ID : 69135211806
Status : Answered

Chosen Option : 1

Q.3




® Find the similar pair from the options given below.

A T

for all candidates.

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

Question ID : 6913522946
Option 11D : 69135211781
Option 21D : 69135211784
Option 31D : 69135211783
Option 41D : 69135211782
Status : Answered
Chosen Option : 3
Q%3 M N
) w
L
The above Venn diagram represents the students who play 3 sports— M, N and L in a class.
The total number of students who play M and L but NOT game N is:
Ans « 1. %%
X2 36
<313
X 415
Question ID : 6913522951
Option 11D : 69135211803
Option 2 ID : 69135211804
Option 31D : 69135211801




Option 4 ID : 69135211802
Status : Answered
Chosen Option : 1
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Question ID : 6913522994
Option 11D : 69135211976
Option 2 ID : 69135211975
Option 31D : 69135211973
Option 4 ID : 69135211974
Status : Not Answered
Chosen Option : --

Q.3 Calculate the potential energy acquired by a 20 kg hammer when it is raised to a height of 15 m (given FIOms’z).
9

Ans  of 130007

< 2 3000 W
< 3 3000N
< 4 3000 Pa
Question ID : 6913522960
Option 11D : 69135211839
Option 2 ID : 69135211840
Option 31D : 69135211837
Option 4 ID : 69135211838
Status : Answered
Chosen Option : 1
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Question ID : 6913522978
Option 11D : 69135211912
Option 2 ID : 69135211909
Option 31D : 69135211911
Option 4 ID : 69135211910
Status : Not Attempted and Marked For Review
Chosen Option : --
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Question ID : 6913522929
Option 11D : 69135211715
Option 2 ID : 69135211714
Option 31D : 69135211713
Option 4 ID : 69135211716
Status : Answered
Chosen Option : 1

°é4 Solve for x where x €N :

(x? —4x+4)% = 16
Ans x1~ —4

X290

X3 2

V4

Question ID : 6913522923
Option 11D : 69135211692
Option 21D : 69135211689
Option 31D : 69135211690
Option 41D : 69135211691
Status : Answered
Chosen Option : 4
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[ Question ID : 6913522974




Chosen Option :

Option 11D : 69135211893
Option 2 1D : 69135211896
Option 31D : 69135211894
Option 4 ID : 69135211895
Status : Answered
Chosen Option: 2
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Ans x 1. 50
X2 68
X 357
v 4 64
Question ID : 6913522916
Option 11D : 69135211661
Option 2 ID : 69135211664
Option 31D : 69135211663
Option 4 ID : 69135211662
Status : Answered
Chosen Option : 4
Q.4
s 161+[27—{88+(25—-135+15x3)}] =2
Ans X1 4
v 2 7
X3 23
X 43
Question ID : 6913522907
Option 11D : 69135211626
Option 2 ID : 69135211627
Option 31D : 69135211628
Option 4 ID : 69135211625
Status : Answered
Chosen Option: 2
064 The weight of an object on the earth is 200 N. What is its mass (g = 10ms™2)?
Ans J 1. 20Kg
X220C
X 3 20Pa
X4 20N
Question ID : 6913522958
Option 11D : 69135211830
Option 2 ID : 69135211832
Option 31D : 69135211831
Option 4 ID : 69135211829
Status : Answered
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 6913522986

169135211942
1 69135211941
169135211943
169135211944
: Not Attempted and Marked For Review
Chosen Option :

Ans

Q{,4 Rationalize denominatorof 1 / (5 — 2+/3).

11. 5+243

13

Xz.(f“#

12

Question ID : 6913522906
Option 11D : 69135211622
Option 2 ID : 69135211621
Option 31D : 69135211624
Option 4 ID : 69135211623
Status : Answered

Chosen Option : 1

Ans 1
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- 40042
2. 28042
3. 30043
4. 4(}(}@

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID : 6913522921

Option 11D : 69135211682
Option 2 ID : 69135211681
Option 31D : 69135211684
Option 4 ID : 69135211683




Status : Answered
Chosen Option : 1
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Question ID : 6913522950
Option 11D : 69135211798
Option 2 ID : 69135211797
Option 31D : 69135211799
Option 4 ID : 69135211800
Status : Answered
Chosen Option : 1

Q.5 Consider the given statement followed by two assumptions numbered I and II. You have to consider the statement and

T the following assumptions and decide which of the assumptions is implicit in the statement.

Statement: “Carry an umbrella. It is going to rain,” tells Gopu to his son Shomu.

Assumptions:
L Umbrella protects a person from getting wet.
1L Gopu and Shomu are family members

Ans  of 1. Both I and II are implicit.
< 2. Neither I nor IT is implicit
/< 3. Only assumption I is implicit
7< 4. Only assumption IT is implicit

Question ID : 6913522933
Option 11D : 69135211732
Option 2 ID : 69135211731
Option 31D : 69135211729
Option 41D : 69135211730
Status : Answered
Chosen Option: 1

Q,f The council of ministers is collectively responsible to the:

Ans % 1. Rajya Sabha




/< 2. Supreme Court
v 2 Lok Sabha

/< 4 Parliament

Question ID : 6913522991
Option 11D : 69135211963
Option 2 ID : 69135211962
Option 31D : 69135211964
Option 4 ID : 69135211961
Status : Answered
Chosen Option : 3
QéS What was the theme of World Heritage Day 20167 It is observed across the world on 18t April.
Ans 1. ‘Heritage of Art’
« 2. ‘Heritage of Sport’
/< 3. ‘Heritage of Monuments’
/< 4. ‘Heritage of Culture’
Question ID : 6913522982
Option 11D : 69135211927
Option 2 ID : 69135211928
Option 31D : 69135211926
Option 4 ID : 69135211925
Status : Not Answered
Chosen Option : --
045 251 7 2500 Hl aAllils 20% clwe? uR aUlls A Asyld cally ol 3 ol ale 3ecll quiRl udl?
Ans X 1. F 4230
X 2 74310
V2 4320
X 4 4200
Question ID : 6913522911
Option 11D : 69135211642
Option 21D : 69135211644
Option 31D : 69135211643
Option 41D : 69135211641
Status : Answered
Chosen Option : 3
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

6913522992

69135211965
69135211968
69135211966
69135211967

Status : Answered
Chosen Option : 3

06-5 A number when increased by 20% gives 6510. Find the original number.

Ans X 1. 4835
X 2 6185
X 3. 7812
W 4 5425
Question ID : 6913522910
Option 11D : 69135211640
Option 2 1D : 69135211637
Option 31D : 69135211639
Option 4 1D : 69135211638
Status : Answered
Chosen Option : 4
07-5 If in a code language GIRL is written as IGLR, then how will BIRD be written?
Ans X 1. BARD
v 2 IBDR
< 3. BIDR
X 4 IBRD
Question ID : 6913522926
Option 11D : 69135211704
Option 21D : 69135211701
Option 31D : 69135211702
Option 4 1D : 69135211703
Status : Answered
Chosen Option : 2
Q.5 Anobject travels 20 m in 4 s, 10 m in the next 2 s and then another 30 m in 4 s. What is the average speed of the object?
8
Ans x 1. 5 i
X2 5ms?
X 3 6mst
v 4 6mst
Question ID : 6913522959
Option 11D : 69135211834
Option 21D : 69135211833
Option 31D : 69135211836
Option 4 1D : 69135211835
Status : Answered
Chosen Option : 4
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Question ID : 6913522988
Option 11D : 69135211952
Option 2 ID : 69135211949
Option 31D : 69135211950
Option 4 ID : 69135211951
Status : Answered
Chosen Option : 2
Q.6 Rz psietelz Welloll clu2cll I3l (racks) 3,220 Hi A B wA Aol Bl 98l aiol Rad &, Rada
0 gaciell esicudl A4
Ans o 1.50/3
X 2 100/3
X 3 60
X 452
Question ID : 6913522912
Option 11D : 69135211647
Option 2 ID : 69135211646
Option 31D : 69135211645
Option 4 ID : 69135211648
Status : Answered
Chosen Option : 1
Q.6 A porter lifts a luggage of 10 kg from the ground and puts it on his head 1.1 m above the ground. Calculate the work
1 done by him on the luggage. .( g= 10ms‘2)
Ans X 11407
X 2 1657
X 31557
v 41107
Question ID : 6913522961
Option 11D : 69135211843
Option 2 ID : 69135211842
Option 31D : 69135211841
Option 41D : 69135211844
Status : Answered
Chosen Option : 4

Ans x-]_ 18
X215

Qéﬁ 75 men can do a piece of work in 8 days. How many days will 25 men take to do it?




X316
v 24

Question ID : 6913522913
Option 11D : 69135211649
Option 2 ID : 69135211650
Option 31D : 69135211652
Option 4 ID : 69135211651
Status : Answered
Chosen Option : 4
Q.6 o5 Fet Pl Wegalotsll 22Ul s2clloll &AL 5128 Bll, o w HHAG oll eetielzHl
cllcl@s dla Gulo Aol B
Ans
X QreLys
v 2 Qe
X3 Asel
X4 WRlet
Question ID : 6913522999
Option 11D : 69135211993
Option 2 ID : 69135211996
Option 31D : 69135211994
Option 4 ID : 69135211995
Status : Answered
Chosen Option : 2
Q.6 ML ALRASE UR 7 kn/h WA WAL 12 km/h HULS3L 52 B, ARIA 7 sCUsHL 64 km el Y™
4 5l ARlR wase dec ses 1 ualcl 522
Ans x 1. 2
V23
X35
X4 4
Question ID : 6913522914
Option 11D : 69135211656
Option 2 ID : 69135211655
Option 31D : 69135211653
Option 41D : 69135211654
Status : Answered

Chosen Option: 2

object?

Ans 1. 1000 N

& 21000 Nm™2
' 3 10007
/< 4. 1000 Pa

-9 An object of mass 20 kg is moving with a uniform velocity of 10ms . What is the kinetic ener 0558558 e
Q.6 hject of ke i ing with a unif locity of 1 What is the kineti 2y p d by the

Question ID : 6913522962
Option 11D : 69135211845




Option 2 ID : 69135211848
Option 31D : 69135211846
Option 4 ID : 69135211847
Status : Answered
Chosen Option: 3
Q¢ Find the value of x from the equation : (x-5)>-81 =0 ;X €N
Ans x 1. -4
X 28
X3 -8
v 414
Question ID : 6913522925
Option 11D : 69135211699
Option 2 ID : 69135211700
Option 31D : 69135211698
Option 4 ID : 69135211697
Status : Answered
Chosen Option : 4
Q.6 In a certain code, FINANCE is written as CNANIFE. How will MONEY be written as in that code?
7
Ans X 1. ENOGT
v 2 ENOMY
< 3. YENOM
X 4 NOMYT
Question ID : 6913522931
Option 11D : 69135211721
Option 2 1D : 69135211723
Option 31D : 69135211722
Option 4 ID : 69135211724
Status : Answered
Chosen Option : 2
Q.6 What would be the smaller of the two angles formed by the hour hand and the minute hand at 9 : 22 p.m.?
8
Ans of 1. 1499
< 2. 150°
X 3.150.5°
< 4 138°
Question ID : 6913522919
Option 11D : 69135211676
Option 2 ID : 69135211673
Option 31D : 69135211675
Option 4 ID : 69135211674
Status : Answered
Chosen Option : 4

Q.6




ule{l stetoll Gur ecll 2dl2

Sl REPTIN
X2 36 oy
X3 40 o
v+ 38 oy

9 ayell A ol ugdl wulell Gz silell GHR 33 607 Yy &3l Anell sletell Grrall urewdl 51 ad B. Al

Question ID : 6913522917
Option 11D : 69135211665
Option 21D : 69135211666
Option 31D : 69135211668
Option 41D : 69135211667
Status : Answered

Chosen Option : 2

Q.7 Read the following information carefully and answer the question given below:

0

Swathi. Latha and Mounika. Some criteria for selection are:
(i) Shyam and Swathi have to be together.

(il) Ravi and Mounika cannot go together.

(iii) Arthi cannot be put with Latha.

(iv) Siva and Krishna have to be together.

(v) Latha cannot be put with Harish.

Ans 1. Ravi, Krishna, Swathi, Mounika
« 2. Mounika. Swathi, Shyam. Harish
/< 3. Shyam, Harish. Rekha, Siva

< 4. Rekha, Swathi. Siva, Krishna

If including Arthi at least three members are girls. the members of the team other than Arthi are

A team of five is to be selected from amongst five boys Shyam, Harish, Siva, Ravi, Krishna and four girls Arthi,

Question ID

Option 2 1D
Option 31D
Option 4 ID

Status

: 6913522943
Option 11D :

69135211771

169135211772
169135211769
169135211770
: Not Attempted and Marked For Review
Chosen Option :

Ans X 1. Table tennis
/< 2. Basket ball
v 3. Athletics
/< 4 Archery

@7 with which of the following sports is Arokia Rajiv related?

Question ID : 6913522983

Option 11D : 69135211932
Option 2 ID : 69135211930




Option 31D : 69135211929
Option 4 ID : 69135211931
Status : Not Answered
Chosen Option : --
@7 Find the 10th term in the given sequence.
-3,-8,<13,-18, 2
Ans  of 1 _48
X 2 -40
X3 -53
X 4 -43
Question ID : 6913522938
Option 11D : 69135211752
Option 2 ID : 69135211751
Option 31D : 69135211749
Option 4 ID : 69135211750
Status : Answered
Chosen Option : 1
97 Find the next letter set in the given series.
GX,. HW, IV, ?
ans of 1. JU
X2 UX
X3 TV
X 4 IN
Question ID : 6913522936
Option 11D : 69135211744
Option 2 ID : 69135211743
Option 31D : 69135211741
Option 4 ID : 69135211742
Status : Answered
Chosen Option : 1
Q.7 Maheshwari Chauhan, who has won India’s first women’s skeet medal in 2017, is associated with:
4
Ans  of 1. shooting
/< 2. boxing
/< 3. wrestling
& 4 cricket
Question ID : 6913522981
Option 11D : 69135211924
Option 2 ID : 69135211922
Option 31D : 69135211923
Option 4 ID : 69135211921
Status : Not Answered




Chosen Option : --

Q7 Pick the figure that will complete the given series.

Problem figures

Ans ?<'1

<
o wo®

Question ID : 6913522944
Option 11D : 69135211775
Option 21D : 69135211774
Option 31D : 69135211773
Option 41D : 69135211776
Status : Answered

Chosen Option : 2

SgA?
Ans | 72 yd

2. 68%
3. 88%
4. 927

Q.7 g (@l Qe w2aie 3812 56y, D ud2ual 607 Anetal HIE AHEl 7L Rl 3eecl 3812 sedl

Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.

Question ID :
169135211754
: 69135211756
169135211753
Option 41D :

Option 1 ID
Option 2 ID
Option 3 ID

Status

6913522939

69135211755

: Not Attempted and Marked For Review
Chosen Option :

Ans

7 B ugl MeRlHMl, BH WU A dlA G, wildol old 4l B .




X 1. QoL

X 2 oo
X 3 £l
W 4 dluHLet
Question ID : 6913522963
Option 11D : 69135211852
Option 21D : 69135211849
Option 31D : 69135211850
Option 41D : 69135211851
Status : Answered
Chosen Option : 4
°é7 Choose the mirror image for the following figure:
N w7 M
EEQ‘E Bl | CEsd | 1
A B c D
Ans x 1. D
v
X3 B
X4 A
Question ID : 6913522955
Option 11D : 69135211820
Option 21D : 69135211819
Option 31D : 69135211818
Option 41D : 69135211817
Status : Answered
Chosen Option : 2
Q.7 Sunil is facing East direction. He turns 45° clockwise and 180° anticlockwise. In which direction he is facing now?
9
Ans X 1. South-East
v 2. North-West
X 3. South-West
X 4. North-East
Question ID : 6913522954
Option 11D : 69135211816
Option 21D : 69135211813
Option 31D : 69135211815
Option 4 ID : 69135211814




Status:
Chosen Option :

Answered
3

Q.8 Who was conferred with the highest Peace Time Military Decoration Award Ashoka Chakra on the 68th Republic Day
0 ofIndia, in 2017?

Ans 5 1. Harpreet Sandhu
+ 2 Hangpan Dada
/< 3. Ranjit Singh
/< 4 Kapil Yadav

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522987

69135211948
69135211945
69135211946
69135211947
Not Answered

Q.8
1

e X0 aiaolla

<2 @l widalln
PR [T E.

v o w3alli

assiUatl Gualal ozl all Ulsicll clsl gl scunl wid B,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6913522964
69135211854
69135211853
69135211856
69135211855
Answered

1

Q.8 W HALel wal AREA sl yds didll wUA HAealluisl 53 direl RAss(E) A dls 1 waud B
d ude 53l

[aea.
Aol Hlaleiototl el WAL s2Mauet wisAYl @y slal B,
clReL:
1. AH g2 2Asell G ay WRAH dal Wone 528 Acl@sElAR dlug S,

2. All@sE2A3 drH wisdl El ot A waA 2actidl Wl A wnaus 28 A Hdal Gie gl
slacl A

W uUA 2 R AR WR B
X2 HL LBl 1 UAgHR B
Kool dlReL 1 el 1| AU B,
X4 HOL dlREL 2 UG B




Question ID : 6913522932
Option 1 ID : 69135211727
Option 2 ID : 69135211725
Option 31D : 69135211728
Option 4 ID : 69135211726
Status : Answered
Chosen Option : 1
Q.8 What is the temperature at which a solid melts to become a liquid at atmospheric pressure called?
3
Ans 5 1. Latent heat of fusion
' 2. Melting point
/< 3. Boling point
/< 4. Latent heat
Question ID : 6913522967
Option 11D : 69135211868
Option 2 1D : 69135211865
Option 31D : 69135211867
Option 4 ID : 69135211866
Status : Answered
Chosen Option: 2
@8 Which number follows in the given series?
15, 20, 18, 23, 7. 26
Ans x 1. 31
X2 20
vz 21
X 4 30
Question ID : 6913522937
Option 11D : 69135211747
Option 2 ID : 69135211745
Option 31D : 69135211746
Option 41D : 69135211748
Status : Answered
Chosen Option : 3
Q.8 Metals are good conductors of electricity because they have many loosely bound
5
Ans X 1. atoms
/< 2. protons
/< 3. neutrons
W 4 electrons
Question ID : 6913522965
Option 11D : 69135211857
Option 2 ID : 69135211858
Option 31D : 69135211860
Option 4 ID : 69135211859




Chosen Option :

Status : Answered
Chosen Option : 4
Q.8 3
6 2530 HlBax 8RNt 3H WIBse sal AxAHl RAd 87
Ans .
X1 gyl
22 A
X 3 %Rl
v o A3 e
Question ID : 6913522996
Option 11D : 69135211983
Option 2 ID : 69135211981
Option 31D : 69135211984
Option 4 ID : 69135211982
Status : Not Answered
Chosen Option : --
Q.8 5 yacs 7320 Hi Aucell QA 207 ojsaliel Asg ud B. A yads # 380 Hi Auausll A2 Jacl
7 251 o3l Wy of5allel U2
Ans
X1 a8, 10
v 2 af5allel, 5%
X 3 of53llet, 10%
X4 ol 5%
Question ID : 6913522909
Option 11D : 69135211635
Option 21D : 69135211636
Option 31D : 69135211633
Option 41D : 69135211634
Status : Answered
Chosen Option: 2
Q.8 ;
s Gl WL 5 E3Hl R B2
Ans 1 AIRA
X 2 flot
v oy Bdlet
X 4 Qellet
Question ID : 6913522997
Option 11D : 69135211986
Option 2 ID : 69135211987
Option 31D : 69135211985
Option 4 ID : 69135211988
Status : Not Answered




8
Q9 What must be added to % to obtain E?

Ans 2
X =—
=1
1.25
r A
0.6
15
X3 =
20
13
4=
20
Question ID : 6913522904
Option 11D : 69135211613
Option 2 ID : 69135211615
Option 31D : 69135211616
Option 4 ID : 69135211614
Status : Answered
Chosen Option : 4
29 Guaell el FRell HEA sl (thrust) EGIBL AR et Hosl 52

A X1 Gurdrsell Rau
X2 ol drsell (Bau

23 AsyHLe (Bau
v+ [Q34 (Bau

Question ID : 6913522957
Option 11D : 69135211825
Option 2 ID : 69135211826
Option 31D : 69135211828
Option 4 ID : 69135211827
Status : Not Attempted and Marked For Review
Chosen Option : --

°1-9 WAL Qaetal walietnl Al U otssl 5 3 WA wreualHill 53 Quisiueuwe B,

(Quitet: 122 §5 HBeotl AWMl HIZ FAUGER B.
ULRBURAL

I. e A5Gl UR afsalet elatell oy B,
I (5 A5l U et Andll a3 B.

A o WA 1 WA AU .
22 HIoL YRR I WU B,

X 3 ofl clReL 1 ol Il AR B,
X 4 HIAL ULRel | e B.

[ Question ID : 6913522934




Option 11D : 69135211736
Option 2 ID : 69135211734
Option 31D : 69135211735
Option 4 ID : 69135211733

Status : Not Answered

Chosen Option : --

% ol Aotmisll 52 wyels 2uads caia Ruaad?

ms
x 2
X3
x4

27
84
27

72
27

60
27

48

Question ID : 6913522901

Option 11D : 69135211604
Option 21D : 69135211603
Option 31D : 69135211602
Option 4 ID : 69135211601

Status : Answered
Chosen Option : 3
Q.9 Which of the following online portals has been launched by the Union Ministry of Women and Child Development
3 (WCD) for the empowerment of women and children?
Ans of 1. NARI
X 2. UIDAI
X 3. Tele Law
/< 4 Madadgaar
Question ID : 6913522990
Option 11D : 69135211960
Option 2 ID : 69135211959
Option 31D : 69135211958
Option 4 ID : 69135211957
Status : Not Attempted and Marked For Review
Chosen Option : --

@9 What is the count of prime numbers between 1 to 50?

Ans ?(T 16
X214
3 15
X 417

Question ID : 6913522902

Option 11D : 69135211607
Option 2 1D : 69135211605
Option 31D : 69135211606
Option 41D : 69135211608




Status : Answered
Chosen Option : 3
a9 is a surface phenomenon.
Ans o 1. Evaporation
/< 2. Freezing
/< 3. Melting
/< 4 Boiling
Question ID : 6913522968
Option 11D : 69135211871
Option 2 ID : 69135211872
Option 31D : 69135211869
Option 4 ID : 69135211870
Status : Answered
Chosen Option: 1
Q.9 The sum of a number and its reciprocal is 20. What would be the sum of cubes of the two (the number and its
6 reciprocal)?
Ans 1. 8000
X 2. 8040
X 3. 8060
v 47940
Question ID : 6913522908
Option 11D : 69135211630
Option 2 ID : 69135211631
Option 3 1D : 69135211632
Option 4 ID : 69135211629
Status : Answered
Chosen Option : 4

7

Ans

V<

Figure (X) =

Option Figures:

N
N

Q.9 Which of the figures given in the options can be formed from the pieces given in the figure (X)?




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6913522949

69135211795

69135211796

69135211794

69135211793

Not Attempted and Marked For Review

ol
Y#
wUAA HEAA 30 R AR 52 aR B2
FAget -
1. HRelel Bedl Ray alfar 8.

2. HBattet slRe 20 Hl Al .

A X s dlL 1 ULl 2 ASEL Yl B
X2 1 s yd B 2R 2 Asy Urd «ial
X1 ua 2 ol A Hollad yau 8
V2 WsE Ud B =R 1 Asy ud el

Q.9 A s Ya wal & FAEeD wiuaml WA B, Yatell eallod viidell 12 s Adeqll %38 /y2dl 8 A

Question ID : 6913522942
Option 11D : 69135211767
Option 21D : 69135211765
Option 31D : 69135211768
Option 4 ID : 69135211766
Status : Answered

Chosen Option : 1

9 statements.

Statements:
All boats are ships.
Some ships are big.

Conclusions:

1. All ships are boats.
II. Some boats are big.

Ans X 1. Either I or II follows
/< 2. Both I and II follow
+ 3. Neither I nor II follows

Q.9 Read the given statements and conclusions carefully and select which of the conclusions logically follow(s) from the




/< 4 Only I follows

Question ID : 6913522928
Option 11D : 69135211711
Option 21D : 69135211710
Option 31D : 69135211712
Option 4 ID : 69135211709
Status : Answered

Chosen Option : 1

%-J In the Modermn Periodic Table, period is an INCOMPLETE period.

Ans 1 g

2. 4
3.5
4. 7

Note: For this question, discrepancy is found in question/answer. So, This question is ignored

for all candidates.

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: 6913522975

169135211899
169135211897
Option 31D :

69135211898

169135211900

: Not Attempted and Marked For Review
Chosen Option :




